# Division (International) with a Helper Grid Name:

Solve each problem. Answers
) 741: 2 = 2) 103 : 3 =
1.
2.
3.
4,
5.
6.
3 205 : 7 = 4 340 : 2 =
5 203 : 4 = 6) 970 : 2 =
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ﬂh Division (International) with a Helper Grid Name.Answer Key

Solve each problem. Answers
1) 741 : 2 =370r1 2 103: 3 =034r1
1. 370r1l
-6 -0
14 10
2. HArl
- 14 -9
-0 -112
1 1 4 170
5. 50r3
6. 485
3 205: 7 =029r2 4d 340: 2 =170
_0 -
2.0 4
- 14 -1/4
65 00
-16'3 -0
2 0
5 203: 4 =050r3 6) 970 : 2 =485
-0 -
2.0 7
- 20 -16
03 10
-0 -10
3 0
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